450 SX-F FACTORY EDITION 2015 <2015><US><F847501>

TANK, SEAT
16463
N
@™
~ -
\ ~
@) .
®ss
Nur gegen Austausch erhaltlich!
Lieferung erfolgt nur nach Rickgabe des beschadigten Aufklebers
an die landerspezifische Kontaktperson!
@ Only for replacement!
Delivery only follows after returning the damaged sticker
to your After Sales contact person!
Pos Part Number Description Additional Text Quantity

1* 7900701304430 FUEL TANK CPL. 7,5L SX 16 1.00
2 50307011000 SCREW SEAT FASTENING D=6X23/18 1.00
3 7770700814404 Tank plug cmpl. 2014 1.00
4 50307014000 TANK ROLLER 12X26X12 '98 3.00
5 0026060136 COLLAR SCREW M6X13 ISA30 3.00
6 51030022000 ANGLE PIECE 90 DEGREE M10X1 1.00
7 78007000270 PVC-hose 5.6X10X270MM 1.00
8* 79008050033EBA SPOILER L/S FACTORY EDITION 15 WITH DECALS 1.00
9* 79008051033EBA SPOILER R/S FACTORY EDITION 15 WITH DECALS 1.00
10* 0025060166 HH collar screw M6x16 TX30 4.00
11 50308052000 BUSH FOR SPOILER 6X11X16X5 MM 4.00




12 0017060206 SCREW F. PLASTIC K60X20AL SW6 8.00
13* 79007040100 SEAT CPL. FACTORY EDITION 15 1.00
14* 0025060256 HH collar screw M6x25 TX30 2.00

*= New part




